
Answers – VOLUME 2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 6, Bar Subject to Torsion          problem 6.11, page 473 
 
Remarks: See §6.2.3, pages 424 till 426  

 
Answers:  
 
a.  2

max 22,5 N/mmτ =

b.  2
min 18,1 N/mmτ =

c.  37,5 10  rad  ( 0,43 )ϕ −Δ = × =
 
Explanation:  
 

a. 
6

2
max 6 4

(15 10  Nmm)(90 mm) 22,5 N/mm
60 10  mm

τ ×
= =

×
 

 
b. { }4 4 6 41

2 π (90 mm) ) 60 10  mm   72,36 mmi iR R− = × → =  

 
6

2
min 6 4

(15 10  Nmm)(72,36 mm) 18,1 N/mm
60 10  mm

τ ×
= =

×
 

 Or the shorter way: 

 2
min

72,36 22,5 N/mm
90

τ = ×  

 

c 
6

3
3 2 6 3

(15 10  Nmm)(2400 mm) 7,5 10  rad  ( 0,43 )
(80 10  N/mm )(60 10  mm )

ϕ −×
Δ = = × =

× ×
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